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1. Where does the conversation probably take place?

A. In a post office.
B. At an airport.
C. At the railway station.

2. How many hours will the student stay at school? S b
A. 5 hours. B. 6 hours, co - LG0T howd A

3. What does the man mean? S TR FY L TIIRNETTE S|
A. His sister is a fashionable woman. - . TR Y SRR PR TES S |
B. His sister is designing a dress.  + ' SRR S

C. His sister is a student of fashion designing,
4. What has happened to Bob?
A. He has retired.
B. He has fallen ill.
C. He has gone for a business.
5. How does the man like this dish made?
A. With lots of sugar. B. With no salt. C. With more salt.
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6. Where does this dialogue take place?

A. In the car.
B. In the sireet.
C. At the airport.
7. What' s the weather like in Annapolis now?

A. It’ s very cold.

B. It’ s very warm.




C. 1 s neither cold nor warm.

8. What will they do after they arrive at the man’ s house?

A. They will have lunch.

B. They will go swimming,

C. They will get down to business immediately.
MITE—RxiE BER ER 1 =4/l
9. Where may the dialogue take place?

A. Tn a hotel,

B. In a restaurant.

C. In a bank,

10. Who find the man’ s wallet at last?

A. The manager.

B. The woman’ s fellow workers.

C. It’ s not mentioned.
11. What can we learn from the dialogue?

A. The woman was helpful and patient.

B. The woman was unkind ard impatient.

C. The woman was very angry with the man.
W TE—RE,BEE 12 EE 14 =1hE.
12. What’ s the probable relationship between the speakers?

A. Boss and secretary.

B. Lawyer and customer.

C. Businessman and eperator.
) 13. Which is true about William Taylor?
i' A. He has called on the man two times,

B. He is likely to be one of the man’ s customers.

C. He said he wouldn’ 1 like 1o offer his insurance.
14. Why will the woman call the legal department?
A. Because she wanis to inform Taylor the process.
B. Because the time of documents’ sending out needs figuring out.
: C. Because a lawyer is required to look over the policy.
| i TE—RME, BEE 15 % 17 ZMME,
l 15, What is the main topic of this 1alk?
A. Television’ s effect on the movie industry.

B. The relationships between different media.

€. Radio news as a substitute for newspaper.

16. According to the speaker, what is the relationship between the radic and the news-

' paper industry?
‘ A. People who listen to the radie also buy newspapers.

: B. Radio is a substitute for newspapers in people”’ s homes.
| —2—



C. Newspapers discourage people from listening to the radio.

17. Why does the speaker mention a football game?

A. To illustrate another effect of television.

B. To explain why television replaced radio broadcasting.

C. To provide an example of something motion pictures can’t present.
E=1 WRER(HE3IMEHMELS &, H54.55)
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Looking for a job

Graduation time In summer
A job opportunity Teaching (18) in a north Londen school
Salary £ (19) & year

Working hours

The normal teaching hours; 35 hours a week

Starting time

The beginning of (20)

|
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1. What are they talking about?

A. Seeing a film.
B. Seeing a good friend.
C. Visiting a place.
2. What is the man deing?
A. Offering to do a favor.
B. Asking permission.
C. Asking for help,
3. What do they think of the English course?
A. It’s going to atiract a lot of students,
B. It’ s going to be a lot of fun.
C. 1t’ s going to require a lot of reading.

4, How scon will the train leave?

A. In 3 minutes. B. In 2 mirutes. €. In 5 minutes.

5. How did the boys feel about the movie?

A. They thought it was great.
B. They could not sit quiet long enough to watch it.

C. They ecould not see the screen,

EW(H R/MEHMELS 2,85 184%)
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6. Where does the man come from?

A. America, B. Britain. C. Russia,

7. Why did the woman want to talk to the man?

A. Because she planned to write ahout the evening school.
B. Because she wanted to be able to teach English better,
N 4 -



C. Because she tried 10 help newcomers to her counlry.

8. What does the man find poor in learming Englishv

A. Wnting. B. Speaking. C. feramaiar,

WTE—BXEDEEIEZE 11 =4/NE,

9, What season is it now”

A, It is spring, B. It is autumn, T wenter,

10. What do we know about the man®
A. He likes sports.
B. He hates cold weather.
C. He never does housework.

11. What is the weather like now?

A. Tt is cloudy. B. It is suony. C. Tt s snowy.

I E—RHE, B EE 12 28 14 =Z4/ME,

12. How does the man know that Carrefour Shopping Center has some good buys?

L

13. What size will suit the man?

A. Size 42. B. Size 41. C. Size 40.

14. What can we learn from the conversation?
A. The man is a very conservative person.
B. The man may buy both the suits and the tie finally.
C. The suits will he delivered 1o the man’s,
WTE—REA,EEX 1S EL 17 Z//NME,
15. Where was the dector going in his ear?
A, We don’t know.
B. To a patient’ s home.
C. To his own home.
16. Which of the following was the cause of the accident?
A. Careless driving.
B. A tree had fallen across the road,
C. The slippery ( JEI&AY) road.
17. Why did the woman patient telephone the doctor?
A. She needed medicine treatment.
B. She believed somebody else needed a doctor.
C. To ask how quickly the doctor could come.
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APPLICATION FORM

Name: Gerharde Esterhazy
Date of birth. (18) , 1985
Address; 13 (19) Street, Leichhard 2040

Office number/Phone number: (20)
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1. What is Orlando going to do?

A. Do his homework.
B. Cawch a train home.
C. Go to a park.
2. Why isn’t the woman going anywhere?
A. She can’t afford and has a lot of things to do.
B. She has no money at all,
C. She is not willing to go anywhere.
3. What do you suppose the woman is?
A. A computer engineer,
B. A policewoman. : A
C. A doctor. . L A
4. What does the woman mean? . S e b
A. She’s afraid the work will be really hard. R
B. She can't find the way out of the student center.
C. She doesn’t want to work tomorrow night.
5. About how old is Billy?
A. 4 o0r5, B. 8ur9, C. 15,

BT (HE 2/ 8MELS 2,R/55 18 5)
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6. What is the man?
A. A shop assistant.

B. A guitar player.
C. A book seller.

7. How much will the woman pay for the three records?




A L 4.05, B. £ 4,15, C.% 4,50,
BT o — XS, BES 8 £8 10 =T,
8. Whal was the girl doing at home this morning?
A. She was cleaning up her home.
B. She was helping her mother.
C. She was decoraling her home.
9, Which committee was the girl on?
A. On the clean-up commitiee.
B. On the dance committee.
C. (n the decorating committee,
10. Why didn "t the boy see the girl at the dance last night?
A. Because she didn’t like the dance.
B. Because she didn't want to have a dance with him.
C. Because there were muny people and she stayed here not for long.
WTE—&XE, &S 11 28 14 BNIE,
Il. What s the woman going 1o buy?
A. Swune beantiful fish,
B. A wmall bottle.
C. A few rocks.
12. Where does the conversation most probably take place?
A, In the market. B. In an office. C. At home,
13. What does the man advise the woman to do?
A. Keep the fish in a bottle.
B. Get a tank to keep the fish.
C. Make some holes in the rocks.
14, Why should a few rocks be put into the tank?
A. To let the fish swim around.
B. To make the tank prettier.
C. To keep the water clean.
WTE—RME,EEE 15 ZF 17 =40NME,
15. When did the traffic accident take place?
A. About 6 o’ clock.
B. About 7:30,
G. About 700,
16. Who was killed in the traffic accident?
A, Mulion Green, B. Frunk Miller. C. Jack Smith.
I7. What can we infer from the news?
A. The depariment was all destroyed in the fire,
B. One person was killed and two were injured in the fire.
C. The policemen were investigating the cause of the fire.
— 8 —
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A False Complaint

Article purchased | A8y
Reason for refund It doesn 't work. & N
Proof of the purchase The receipt or the guarantee
The price of the article (19}
The problem The (20) _ isn’tom.
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1. What will the man probably do?

A. Order a newspaper.
B. Put an ad in the paper.
C. Go to the interviewer’ s office.

2. What is the man’s teacher’ s name?

A. Miss Pond. B. Miss Brown. C. Mrs. Pond.
3. How far away is the railway station from the place where the woman is?

A. Six blocks. B. One block. C. Four blocks.
4. Where does the conversation most probably take place?

A. At the hotel, B. At the airport. C. At the office.

5. What is the main reason for buying a jacket now?
A. Tt is cold and the woman needs it.
B. They won’1t have any money left later.

C. The woman’ s size might not be there later.

“W(H R2/0E 8RS & RS 18 &)

T 4 B, BERIERAFLA/NE, WEP LK A B.C = MET PR
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BroWTsEs , /NG I S B ENEE R ), B MR

W TE B, FEE 6 28 =hl,

6. What’ s the weather like in Paris in spring?

A. Lovely but windy.
B. Warm and sunny but damp.
C. Warm aud sunny but windy and damp.
7. What's the weather like in the woman’ s hometown is in May?
A. Warm but sometimes rainy.
B. Warm but sometimes windy.
C. Warm but sometimes damp.

8. How about the weather in the man’ s hometown in October?

A. Warm, B. Sunny. C. Not mentioned.
— 10 —
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9. Who will be taking Sally to the airport?
A. Maria.
B. Her uncle Dan,
C. Sally will drive there hersell.
106. What was Sally’ s purpose for calling John?
A. To check what time her plane leaves.
B. To borrow his camera.
C. To ask him to set her off.
11. What type of book has Sally bought to read on the plane?
A. Romance. B. Novel. C. Science fiction.
B T E—RHE, BE S 12 £F 14 =N,
12. What are the two speakers talking about?
A. American art,
B. American history,
C. The famous film star Charlie Chaplin.
13. What is the probable relationship between the speakers?
A. Neighbours. B. Classmates. C. Workmates.
14, Which is true according to the dialogue?
A. Hallywood is the only film studio in America,
B. Hollywood is the earliest and the best filn studio in America.
C. Hollywood is the most prosperous film studio in the world.
W TFE—RME,BEE 15 Z2E 17 =4,
15, Where does this conversation take place?

A. Over the telephone,

B. In the woman’ s house.
C. In an insurance company.
16. Why does the man talk to the woman?
A. To make a damage report.
B. To help her rebuild ker house.
€. To show honesty in his business.
17. How many points were destroyed by the storm?
A. Three. B. Four. C. Five.

= WRES(EINME;ENELS5 F,#54.55)
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Four Reasons Why Fanny Prefers Traveling By Bus

Reason | It (18)
Reason 2 Traveling by bus gives her a cioser look at the cities and (19)__
The passengers on the bus often have the same age as hers. So, they are
Reason 3 )
easy to talk with on the (20) ;
Reason 4 Riding a bus allows her to explore any stop along the way.
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